4 ] 3R

OVH A~K:EBR £:R&
BRE RERE —iklE
9:00 ~ 12:00
815 7= 50 =
RRZEF 11:00 (Btra 55 )
9:00 ~ 18:00 180 "
305} 120 A | @#as 198 /M)
(Biird 132 M)
11:00 ~ 20:00
OEYPON 600 -| 900 -
B2t 17:00 (B2d 660 ) | 990 &)
wRE KERE —ikRlE
18:00 ~ #3:00
30% 280 - 420 -~
(aa 308 ) |@ira 462 )
18:00 ~ #¥3:00
7YV—%4L 1,400 - 2,100 =
B2 T100 [GSES 1,540 ) | Ginds 2310 )
18:00 ~ #3:00 A~%
3 B0 | = oxes wersns
(e 550 B | rrvsmescmsres

@®EkXK £ -B-®M-Wi:EBR £:%&
Bii& REKE —figRlE
9:00 ~ 12:00
857 50 =
|IEF(  11:00 (Bsra 55 M)
9:00 ~ 18:00 270 "
304 180 = |@2a 297 )
(Btiras 198 M)
11:00 ~ 20:00
7Y—%4L 900 -~ 1,350 =
Bi€EMH  17:00 (Brag 990 M) |Bas 1,485 )
w"RE RERE —gRlE
18:00 ~ ¥6:00
304 350 = 525 -~
(Btiras 385 M) |Bas 577 )
18:00 ~ T6:00
AT R A 1,750 = 2,625 =
BEEMH  B400 (G2 1,925 M) | (an 2,887 )
18:00 ~ ¥6:00 &+ - WA
I 1,000 A ook smpens
(e 1,100 m | TrvsmermaTeE
18:00 ~ ¥3:00 B-#®
B0 r| = xee smesns
(Btiras 550 M) 77U ERPEBRAA

VEeWHhZFT

OFH A~A:BE £:R&
= RERE —iklE
9:00 ~ 12:00
85 7= 50 =
REF(T 11:00 (Btra 55 )
9:00 ~ 18:00 2 1 6 ?
304 144 M |@as 237 )
(BiAd 158 )
11:00 ~ 20:00
7V—%4L 720 = 1,080 =
REZH  17:00 [N 792 ) | Geinds 1,188 )
wRE KERE —ikRlE
18:00 ~ #3:00
304 33 | 504 -=
(BiAd 369 ) |rira 554 M)
18:00 ~ 323:00
PP RPN 1680 =| 2,520 -
BEEM  T100 [ESES 1,848 ) | Ginds 2772 )

4

2ZHUETOTRIEIRY £9

5 - KPE, BPIPERR

T7YBRIFETRRLA

®EkX L -HB- - -ME:EBR £

BRi&
9:00 ~ 12:00

i1
BEEH 1100
9:00 ~ 18:00

304
11:00 ~ 20:00
7U—%4 L
BiREH

18:00 ~ 26:00

304
18:00

7ZU—24 L

RIEZA

17:00

#4:00

4

®’
RENE —iRE
50 =~
(Biad 55 /) 324 -
216 m |@2as 356 )
(Biad 237 )

1,080 = 1,620 =
(€2 1,188 M) |(Bas 1,782 M)
KBRS —iRRE

420 - 630 -
(BtAd 462 ) [(Btias 693 )
2,100 =| 3,150 =~
(Btind 2310 M) |(Btas 3,465 )

2BMUETOTREICRY 27

1 KRE, BPIPERR

T 7Y EREFETHETRMA




